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Ne. E =& *E R B e T E A ST e T R
1 =K EE 2 | BB PR EEER 10.15 | 2| 2.80 [12| 8.90 | 3| 10.55 | 1| 10.25 | 1| 7.65 | 3| 50.30 1
2 = WA 2 | BB hFESEER 8.40 | 14| 2.50 [15| 8.05 | 7| 8.25 (20| 2.70 |16 2.20 |16] 32.10 | 17
3 MR BX 2 | BHEBEIPHEERR 7.85 [17| 2.85 11| 9.00 | 2| 8.45 [19| 7.40 | 9| 0.90 |19| 36.45 | 13
4 || R 2 | BHBEIPHEERK kiken kiken kiken kiken kiken kiken

5 |fF#k Eih 2 | BB A EEER 8.90 | 11| 3.45 | 4| 7.35 |15| 9.80 | 4| 6.40 [12| 2.40 |14| 38.30 | 11
6 (¥H Fw 1 | BRERIIFHESEER 10.10 | 3| 3.80 | 3| 8.40 | 5/ 10.40 | 2| 8.00 | 7| 9.60 | 1] 50.30 1
1 |8k HKER 2 | BNEEER 10.55 | 1| 3.15 | 8| 9.05 | 1| 10.15 | 3| 10.00 | 2| 5.50 | 7| 48.40 4
8 |FEXK EEE 2 |BAEEER 9.15 | 9| 7.20 | 2| 7.95| 9| 9.25 |13| 3.20 |15| 3.50 [11] 40.25 9
9 [dtEF AKER 2 |BAEEER 7.65 |18 2.95 [10| 8.25 | 6| 9.20 [14| 7.80 | 8] 4.05 | 9| 39.90 | 10
10 |=5d 4 2 | BHEEER kiken kiken kiken kiken kiken kiken

11 |=ve snRFeor mxm| 2 |BHETHMESESR 8.15 [15| 1.20 |20| 3.45 [20| 8.85 (17| 1.00 21| 0.90 [19] 23.55 | 19
12 |81l =€ 1 | BHERINESEER 2.60 (22| 0.90 |21| 0.80 |21| 7.85 21| 0.50 22| 0.60 22| 13.25 | 22
13 |EHE KA 2 |BAMENANESEER 4.80 | 19| 0.85 [22| 3.70 (19| 9.50 | 9| 1.30 |20 1.85 [17] 22.00 | 20
14 iI& B 2 |BAMENANERSEER kiken kiken kiken kiken kiken kiken

15 ATH f1E 2 | BB /MEE SR 9.05 (10| 7.80 | 1| 8.50 | 4| 9.40 |11| 8.60 | 5| 5.20 | 8| 48.55 3
16 |FW #E 2 | BHIEN/IMVEEEER 9.65 | 6| 1.65 [17| 4.25 (18| 9.75 | 5| 5.40 |14| 1.45 [18] 32.15 | 16
17 |lLE EE 2 | BREI/NMEFER 3.90 [21| 1.30 [18] 0.00 (22| 7.30 22| 2.30 (18| 0.85 21| 15.65 | 21
18 |db ZH3t 2 | BHMBENATEASEER 8.15 | 15| 1.25 [19] 5.60 |17| 8.95 |16| 2.60 |[17| 4.00 [10| 30.55 | 18
19 A& 2 |AEETIAHEESEER 9.20 | 8/ 1.70 [16] 7.70 11| 9.60 | 7| 1.60 [19| 2.80 [12| 32.60 | 14
20 |#0T =4 3 |BHRNEIESEER 8.85 | 13| 2.65 (14| 7.70 |11] 9.60 | 7| 6.50 |10| 5.70 | 6| 41.00 8
21 |#BE F=h 3 |BAMEBENRIESEER 10.05 | 5| 3.25 | 7| 8.05| 7| 9.50 | 9] 9.30 | 4| 6.15 | 4| 46.30 6
22 |7t FE 2 | BHBENEIESERIR 8.90 [11] 2.80 12| 7.45 (14| 9.15 |15 6.50 [10| 2.40 |14] 37.20 | 12
23 |EW FH 2 |BAMBETRIESESER 4.70 [20| 3.10 | 9| 6.95 [16] 9.30 |12| 5.50 [13| 2.70 |13] 32.25 | 15
24 |11 BEiR 3 |BHBRIMEIESEER 10.10 | 3| 3.30 | 6| 7.80 |10| 9.70 | 6| 8.50 | 6/ 5.85 | 5| 45.25 7
25 |lUAR EEX 3 |BHRNEIESEER 9.65 | 6/ 3.40 | 5| 7.60 [13| 8.60 |18 9.85 | 3| 7.90 | 2| 47.00 5
26 |=mH th 304 | RS\ 8.25 | 4/ 800 | 4 9.20 | 1| 860 | 4 9.35 | 1| 9.45 | 1| 52.85 2
21 |5 2B 3048 | RARS /N 9.20 | 1| 9.00 | 1| 8.90 | 3| 9.30 | 1| 850 | 2| 9.30 | 2| 54.20 1
28 | TRYT 304% | RARS /N 8.60 | 3| 8.20 | 3 830 | 4 875| 3 7.25| 3] 7.80 | 4] 48.90 | 4
29 |& H 504X | B AR AR =4t 8.80 | 2| 850 | 2| 895 |2 9.00| 2 7.00| 4/ 8.60 | 3| 50.85 3
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1 |27 |38 8B srne /v7s|30k ARS8 54.20

2 |26 | EF # |4 arY0|  RKSN | 52.85

3 |29 | & #ik |3% TUA|sor| BRgmissRR| 50.85

4 |28 |HIl [R{F|v+#ro eoax|dott|  RIRS/N 48.90

(BEBA B ») (A% HAR]
Iz No.| & 4 | ZUHT |#%| B B T R ||mtNo| B & | JUHS (25| FT B g R
1 127 |13 S5y m7s |sot| RS/ 920 || 1 |27 |BE =B sne mrs|or| RSN 9.00

2 |29 |& Hig |3k FUA|sor|ERmasmtat| 880 || 2 |29 | £ Hi# |3x FvA|son|axmassktan| 850

3 |28 [HIl JEAT|v+#7 emax [0ft| R7RT/N 8.60 3 |28 [l [EfT| v+ enax|sok|  RARTIN 8.20

4 (26 |EH # |2H1 2z5|s0&| RESN 8.25 4 |26 | BH # |2ha 2RY|0k| RSN 8.00
(BB A DYiE) (FEBA Bt &)

IE | No.| & & | 2UHF |25 [ -1 B A ||| No. | KB & | ZUHT |25 B BB B =

1 |26 |BH # |59 525|025/ 9.20 1 |27 |BiE EB|sny /07x o RARS/N 9.30

2 |29 |& R |3h TUL|sort|BABmasRst| 895 || 2 |29 | B |3k TUA |ox|Brmamstai| 9.00

3 |27 |BHE BB sy o7 |sok| RAESN 8.90 || 3 |28 [HNIl JRAT|rr#7 eaax aor| R7IRT/\ 8.75
4 |28 (M)l [T |0 enax 30| RAESN 830 || 4 |26 |BH # (591 SRV |0k|RKRT/N 8.60
(FERA T17#) (A &% #)

E 2| No.| & & | JUAT |## R /7 R || N | B & | UAF |25 BT B 7R
1 |26 |EFH # |2ha 4RI |30/ RIRS/N 935 || 1 |26 |&FH # |5H1 BZRY|0k|ZRFN 9.45
2 |27 | BB 5|y /v7E [s0ik| RART/N 850 2 |27 | B |srny 7 |sor| RIRT/N 9.30
3 |28 [#I [E1T|v+#o eoax |sok| RAT/N 7.25 || 3 |29 |& Eif |3 TUA |sort|Bxmanait| 8.60

4 (29 | #if |3 TUA|sor|BxMamsRLt| 7.00 4 |28 |MJIl JEAT|v+#7 emax |sor| RART /N 7.80
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1 1 [BEK £E |75+ sv7x| 2 |Banauseszaszss| 50.30

}l

1 6 |#FHE Fw |=vi (7% 1 |[Baeahrsses| 50.30

3 |15 {E FME |[A75 1R | 2 |BaRiasEEes| 48.55

4 | 7 |BEk RKER[rrH avson| 2 |BABEESK 48.40

5 |25 |lUAK A |[veEravs| 3 |BaRserssses| 47.00

6 |21 |2 R |vrvravar | 3 |BaRueIxssss| 46.30

7 |24 |IUEFE |z¥vv wv#| 3 |2aRuiRIzssek| 45.25

8 |20 ML RE |V ELF| 3 |BaRuzeIxssei| 41.00

9 | 8 |FEK B |[£5% vavv| 2 |BHNEEER 40.25
10 | 9 |4B AKE|*ss evsn | 2 |BASEPE 39.90
(FEEHA B ») (FEB% HARE)
IE fz| No.| K& 4 TUHF |E R B A ||| N | B % TVHF (2= B TR
1| 7 |3k ke |t avsas| 2 | Bz 1055 || 1 |15 |AE fE |[A7% h2'7 | 2 |mararusszs | 7.80

2 |1 |FRA 2E |75+ sv7y| 2 |BaRutsases| 10.15 2 | 8 |FEKR TEE |b5% vanw| 2 |BHMSZSK 720

3 | 6 |¥E FR |=vs (7% 1 |BaRoeEFEe 1010 || 3 | 6 |¥E FK |=v2 (TF| 1 | @arasasses | 3.80

t

3 |24 |BIL B |zeve wox| 3 |mamuergssss| 1010 || 4 | 5 |[BE B |1y razy| 2 |osaessser| 345

o
*

5 |21 |#8:2 £h |vrvoavzy | 3 |BaRuzersses| 10.05 5 |25 [IUAK BAK |[vvEbavg| 3 |zaruzerzases| 3.40

6 |16 |FIL HEE [7Arvavt | 2 |BaRikESEER| 9.6 6 |24 |[ILBER |zxv< <vx| 3 |marzerzssex| 3.30
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Ig | No.| K& 4 VAT |BE R B A ||\ # No.| B % VAT %= B B R
1 7 |EKk KER|[rsr4 avsny| 2 |BAEZEEKR 9.05 1 1 "R BB |[75% 3v7+| 2 |2asuenssss | 10.55

2 | 3 |[MTA BK |s7oF vavs| 2 [Bamgasszgesn| 9.00 2 | 6 |FA FW [=vz 47%| 1 |2agseasges| 1040

3 |1 |BA =T |75+ svrs| 2 |Basuenssss| 890 3 | 7 |Bk KRER|rrH oavson| 2 |BHIEEER (1015

4 |15 [AIE FME |75 HA'T | 2 |BmRuzassEsek| 8.50 4 | 5 | EIE |1bv 7qaz4| 2 |2aguersses | 9 80

5 | 6 |¥E W |=vs (I%| 1 |(BaRueamsekl 840 || 5 |16 |FHWU ME |[7Avvaok |2 (masuiesses| 975

6 | 9 [ILBF RAER|*s/ evsov | 2 |BAIEESK 8.25 6 |24 |KILEM |[r¥vv wox|3 |marzeizsszs| 970
(BB F17#) (FEEA & #&)
IE | No.| K& 4 YRS |#E B B A ||E & N.| £ % 2UHF |x2= B B =

T |1 |RKR RE [75% 7| 2 |BaRueiESE®R) 10.20 || 1 | 6 |#FE FR |=vi (0% 1 | 2araerssei| 960

2 | 7 |=k pekep|rers avsas| 2 |BaIS T 1000 || 2 |25 |luA BEA |v=Ebavs| 3 |enruesssses

2

7.90

3 |25 |[lUA BA |[vvEbavg| 3 |BaRueIzsses| 0.85 3 |1 |ER BT [75% svrs| 2 |2agussases| ].65

4 |21 |#EB =G |vrvvavzr | 3 |BaRzerzsses| 9.30 4 |21 |¥g2 =G |vvavry | 3 |easuezsassx| 6.15

5 |15 @@ FE (475 4xY | 2 |Bameususses| 8.60 5 |24 |BIL B |revv wvx| 3 |maruezxsssn| 5 85

6 |24 [R21L HHE |zxve wox| 3 |BoRuerzesss| 850 6 |20 [#I R4E |RVI EhF| 3 |zugzezzsser| 570




